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Linear Equations



Exercise

Equs with an x term on both sides

Ex 8 3 5 15

8 52 15 3

33C 12
x x 4



Ex 8 5 14 28 5k

5 52 28 14

10x 42

x 42
10

2 4.2

Ex 9 9 32 x 11

9 x x 11 32

10x 43

x 43
10

K 4.3

Equations involving brackets

Exo 3 2x 5 9 Ex 2 5 1 28

6 15 9 10x 2 28

621 9 15 10x 28 2

621 24 10x 30
x F x

x 4 x 3



Exercise



Word Problems

Ex Alan is twice as old as Bill Colin is

5 years older than Alan Colin 17 How old

is Bill

Let Bill be x years old
Alan will be 2x years old

Colin will be 2x 5 years old

2 5 17

2x 17 5
2x 12

x I x 6

Bill is 6 years old

Ex John's dad is currently 3 times
as old as John In 12 years
time John's dad will be only twice
as old as John

How old is John now

Let John be x years old now

Now dad is Bx years old

In 12 years time

John will be x 12



Dad will be 3 12

3 12 26 12

3 12 2x 24

32 2x 24 12

x 12

John is 12 years old now


